23.05.2018 |

Angle Grinder - 0 601 331 042 - ----

www.powertools-aftersalesservice.com

Part Number Description lllustration Price Group
1 1605108 124 Motor Housing BLUE N/A £16.64 1 32
2 1604220248 Field 240V 1 £64.84 1 45
2/00/08 1 901 350 003 Terminal lug 1,5-4x4 N/A £0.47 1 10
5 1604 460 079 Cable 1 1
6 1600 703 009 Grommet @11,5-@15,0x150 MM 1 £2.10 1 16
7 1601302013 Fastening Clamp 1 £0.72 1 11
11 1607 328 034 Suppression Filter 1 £2.10 1 16
15 1 600 113 002 Seal 1 £0.72 1 11
16 1 604 336 008 Brush Holder 1 £3.65 2 20
17 1601 037 006 Cover Plate 1 £0.72 1 11
18 1601 014 005 Profile Strip 3,4x7x240 MM 1 £0.72 1 11
19 1602 026 041 Control Lever 1 £2.77 1 18
20 1 605 808 054 Bearing cover 1 £1.39 1 14
21 1600102 012 Cover Disc 1 £0.72 1 11
22 1603523 032 Grinding Spindle M14x1,5 MM 1 £19.33 1 33
23 1600 108 055 Sealing disk 1 £0.72 2 11
25 1600 306 001 Grommet 1 £1.29 1 13
26 1605 806 394 Gear Housing 1 1
27 1600910010 Needle bearing @22x11,3 MM 1 £25.93 1 36
28 1600 206 019 Retaining snap ring 1 £0.72 1 11
29 1600502 013 Guide Pulley 1 £0.72 1 11
30 1600119 004 Spring retaining ring 1 £1.39 1 14
31 1604 652 015 Spiral Spring 1 £0.72 2 11
32 1600290 008 Rotary shaft lip seal WHITE 1 £1.29 1 13
34 1600190 004 Shim 0,1 MM THICK 1 £0.72 1 11
34 1600190 005 Shim 0,2 MM THICK 1 £0.72 1 11
35 1601 030 022 Tab Washer 1 £0.72 2 11
36 1600502 006 Rubber Bushing 1 £0.72 1 11
40 1 600 150 009 Spring Washer @32,3x@43,5x0,6 MM 1 £1.39 1 14
41 1 605 500 089 Sealing cap BLUE 1 £0.72 2 11
42 1605 132079 Handle BLUE 1 £21.43 1 34
43 1601110 058 Reference Plate DOUBLE INSULATION 2 £0.72 1 11
44 1600 120 070 Faceplate 1 £5.00 1 22
23.05.2018 www.powertools-aftersalesservice.com Page 1 of 7


www.powertools-aftersalesservice.com

Angle Grinder - 0 601 331 042 - ----

Part Number Description lllustration Price Quantity Price Group

45 1601 331 032 Holding Bracket 1 £0.72 2 11
50 1900 905 227 groove ball bearing 6203-2 Z DIN 625 1 £8.69 1 27
51 2916 620011 Retaining ring @22 MM 1 £0.72 1 11
52 1900900 413 groove ball bearing 6203-TH/C3 DIN 625 1 £19.33 1 33
53 1600 900 029 groove ball bearing 1 £4.30 1 21
54 2910021118 Socket head cap screw DIN 84-AM4x8-8.8 1 £0.47 4 10
55 2910 211 006 Tapping Screw DIN 7971-BZ2,9x13 1 £0.47 2 10
56 2916 011 005 Plain Washer DIN 433-3,2-ST 50 1 £0.47 2 10
57 2910011 157 Socket head cap screw DIN 84-AM5x15-5.8 1 £0.47 4 10
58 2915 011 005 Hex Nut DIN 934 -M4-m-8 1 £0.47 2 10
59 3603 415 560 Thread-forming tap. Screw B 4,8x45 MM 1 £0.72 4 11
60 2910211 036 Tapping Screw DIN 7971-ST4,8x25-F 1 £0.47 4 10
61 2910011 162 Socket head cap screw DIN 84-AM5x20-5.8 1 £0.47 3 10
62 1603 300 009 Hex Nut M12x1,5 MM 1 £0.72 1 11
63 1603 429 001 Tapping Screw B4,8x85 MM 1 £0.72 2 11
66 2910021122 Socket head cap screw DIN 84-AM4x12-8.8 1 £0.47 2 10
650 1602 025 022 Auxiliary Handle M14 BLACK 1 £7.90 1 26
650/01 1602 025 030 Auxiliary Handle M14, @37x115 MM BLACK N/A £10.04 1 28
651 2 607 950 511 Single-Head Eng. Wrench SW17 N/A £2.10 1 16
652 1605510176 Protective Cover @180 MM N/A £11.39 1 29
653 2 607 950 004 Offset Screwdriver DIN 911-4 N/A £0.72 1 11
654 2 600 501 006 Clamping-Flange @45 MM N/A £6.95 1 25
655 2 603 345 004 Round Nut M14 N/A £2.77 1 18
656 1907 950 007 Offset Screwdriver DIN 911;SW6 N/A £1.85 1 15
660 2910 281 244 Round-Head Bolt DIN 603-M 8x25 N/A £0.72 2 11
700 1 607 000 151 Parts Set 3 1
702 1607 000 030 Tensioner Parts Set N/A =" 1
703 1 607 000 140 Parts Set N/A 1
712 1607 000 176 Parts Set @180 MM N/A 1
800 1607 014 103 Carbon-Brush Set 1 £7.90 1 26
801 1604 440 004 Connecting Cable 1 - 1
801/020 1 601 353 003 Terminal lug N/A £0.72 1 11
802 1606 333 210 Crown Gear Z=51 1 £49.86 1 43
803 1606 333 209 Bevel Gear Z=18 1 £23.68 1 35
804 1607 000 034 Switch Kit 1 £19.33 1 33
805 1607 000 060 Seal Kit N/A £2.63 1 17
806 1604 012 047 Armature 220-240V 1 £134.88 1 51
817 1607 000 229 Bearing Flange N/A £8.69 1 27
817/029 1600 210 033 O-Ring 79,0x1,78 MM N/A £0.72 1 11
835 1607 000 227 Eongr supply cord EU 4,15m 2 x 1,0mm HO07 N/A £14.59 1 31
888 1601 11A 3H3 Nameplate N/A £1.29 1 13

23.05.2018 www.powertools-aftersalesservice.com Page 2 of 7



Angle Grinder - 0 601 331 042 - ----

Lubrication instructions for product: Angle Grinder - 0 601 331 042 - ----

Pos. Description Instruction Lubricant Quantity

Gearbox interior Grease parts, rest in gearbox 1.605.430.003 Bosch 45-50 g
interior

Crown gear/ bevel gear Grease teeth 1.605.430.003 Bosch

27 Needle bearing / needle bushing * Fill to 1/2 1.605.430.003 Bosch

50,52,53 Deep groove ball bearing * Fill to 2/3 1 615 430 020 Bosch

28 Rubber ring Grease 1 615 430 020 Bosch

36 Rubber bushing Grease 1 615 430 020 Bosch

23 Sealing felt Soak SAE 20 W Mineral oil

(commercially available)

* if bearing not greased SAE 20 W Mineral oil
(commercially available)

23.05.2018 www.powertools-aftersalesservice.com Page 3 of 7



Angle Grinder - 0 601 331 042 - ----

Product information Angle Grinder - 0 601 331 042 - ----

Product No 0601 331 042
Description 251,828; Angle Grinder
DIN-Text

ID_Text_Ext 0

Trading_Description

Voltage 1 240 V
ID_Country_Product GB

23.05.2018 www.powertools-aftersalesservice.com Page 4 of 7



Angle Grinder - 0 601 331 042 - ----

lllustration - Type E

| SAUOIBIYIPOW OARg

r——ar] A BAPAIBSHI SUONBIIIPOLN
—— A | PaAIOSa) SUOIEIIPOl
ot L § | | usl[eyaquoa ustiuniapuy

. . €0-08 pueis
‘*'6ZEEL ‘"B lEE L

""02eEL O Lee 109 0 dAL

www.powertools-aftersalesservice.com Page 5 of 7

23.05.2018



Angle Grinder - 0 601 331 042 - ----

lllustration - Type E

Modifications réservées
Salvo modificaciones

Anderungen vorbehalten
Modifications reserved

; 13330..
33309..
E.Hl

- |

- ¥
oo

o
898
»o
-r
oo
—r
L)
Mo Q@ 2
i 888 8
o | --gg 2
© g 883 S
o B - -
S 5 5 =
= w

23.05.2018 www.powertools-aftersalesservice.com Page 6 of 7



Angle Grinder - 0 601 331 042 - ----

lllustration - Type E

| URBUIRISIYDT-USpajuleT T2OL
sBnsnyemoniad YomIaqsyeyosan
HAQWs yosog yagqoy

SOUOIEDYIPOW OA[ES

£0pAISR SUQHEDI)IPO

PaAIaSaI SUOIEDLIPOW

usy[eyaqon usbunispuy

™™

sog'sod=(_)

00L'sod=["]

“Teeeet
“rezeet
‘'elee L dAL

€0-08 puelg

TTU6TEEL "6 lEE L
"r0zTee L 10 1e€ 109 0 dAL

Information subject to change without further notice.

www.powertools-aftersalesservice.com Page 7 of 7

23.05.2018



